Stat 3611 Quiz 9
NAME:

1. (5 points) A random sample of 100 automobile owners in Minnesota shows that an automobile
is driven on average 23,555 km per year with a standard deviation of 3,900 km (these are
sample information). Assume the distribution of automobiles mileage per year in Minnesota

is normal.

(a) Find a 99% confidence interval for the average number of kilometers an automobile

driven per year in Minnesota.

(b) Repeat part (a) if the 3900 km is the standard deviation (i.e., population standard
deviation) of the distance driven by ALL automobiles in Minnesotan.
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2. (5 pomt\f mmamﬁact"fer is considering two types of batteries for its car. Sample infor-
mation on battery life is collected for 20 batteries of type A and type B, respectively. The
sample mean and starndard deviation of battery life for type A are 32.91 and 1.57, for type
B are 30.47 and 1.74. . Assume the battery life is normally distributed and 04 = 5.

(a) Find 95% confidence interval of us — up.
(b) Decide whether the company should use type A battery or type B battery. Explain your _
decision. V= feng-2 =38 oo (385 2.
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3. (5 points) A new rocket-launching system is being cousidered for deployment of small, short-
range rockets. The existing system has p = 0.8 as the probability of a successful launch. A
sample of 40 experimental launches is made with the new system, and 34 are successful.

(a) Construct a 95% confidence interval for p. Hint: this is a esimation of proportion.

(b) Would you conclude that the new system is better? Explain!!!
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